Losung Al

fi(x) =3 In(x) filx) ==
f() =3+ InG) R0 =
f2(x) = 3-In(2x) £ = %
fi(x) = In(0,5%) - 2 () = %

a
fs(x) = a'loga(x) fo(x) = In(a)
fo(t) = zn(t) £ = ﬁ
f,®) = a* - In(V21) o= aTz

Losung A2
fi(x) = (4 —x)(In(3x) — 2)

fi(x) = —(In(3x — 2) +%(4— —x) = —In(3x) +%+ 1

fo(x) = (3 —2x?) (% In(x) + 3x>

1 1
fo'(x) = —4x (E In(x) + Bx) + (Z + 3) (3—2x%)
=—x(2In(x)+18x+ 1) +23—x+ 9

f3(x) =log,(2x) — a f3(x) = In(a) x
_r oo —4x*+3  —8x  4x*(QIn(x)—1)+3
fa(x) = In(x) (=4x° +3) fi(x) = - In2(x) - x + In(x) - In?(x) - x
fo(x) = 3In2x) - (1 — ln(x)) £ = %(1 () — 3 In(2x) __ 3(In(2x) -I;Cln(X) -1)
_ Lo 2t t?2—1 _t2(21n(2t)—1)+1
f6(t) = (t + 1) (t 1)- In (21’) f6(t) = In(2¢) - t- an(Zt) - t- an(Zt)

f7(t) = In(3t) + In(2t) — In(t)

Losung A3

fikx) = In(x) - e*

LS
f7 Tttt ¢t

i) =e* (3 + @)

f,(x) = (2e™™) + D BIn(x?) + 1)

1

=12 In) 4=

f3(x) = In(4x + 1) - (sin(x) + 10)

E
12xIin(x)+14x+6
2 (x) = ————"—
f}(%);ia—ésé:;@é—l-—]r@)%—l}-—ees-@e}
4%

4(sin(x)+10)

f3(x) = el T In(4x + 1) - cos(x)
fi(x) = 0,5+ In(x) - (2e — 4e?) £ = 222
—4 e
fS(x)_m fsx )_me(x)
fo(t) = (5x% = 2x) - In G) FI(b) = (15¢t%-2)-In(0)-5¢%+2

In2(t)
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